N [=— Lt

=5 4Y/HIE o[0ix|

Ollxl %EHE Al X OI%’ EI.CA E’

S &l x5t

ks

HiZE &E:

Xtodq
, S HE

%o

S 72 Qlal Ax| 2 YT LE| ST M

AX| 2HE Soll g2 AT Jts.

Ax| 2HZE T-2F0lM L st=cl AHSELIC

ST LIAE 2 YT MOHEE Sz 50|12

MIDYE A0 el SE =2 +EUCH

L= Axlof 718 E 71 28 8ol UX| BRAZE 0|85 7L 2AE =

e £ A&Lch

0|5 72l: M12 = +1.0mm, M16 = +1.5mm.

THE:
CE AUx| & ST HMIHE F3t 25

dd.
S Eool 5 Mol LA 22 &0 o] 2idel YaTlA SHE 2
O|E ¢lall & AERIE FIIE ZEE += JU&LIC
a5 WHA:
PONE-—-
17 LA
=M
® L
i 2L z|-—452 B=50/72
3 - — ] N ——7—
iﬁd]_[i:r ‘ qnil, | K v_“_' H ;
i b E' B=100
z &
AN % |
[épe m
£S5 20
==Zms EY L L B H BIB2 HI H3H4H5 H6 D © Z T x99 E3
min. max. QtLIAL A E AR A= AZ max. kN max. Nm
DIN 912 DIN 912
K1745.0500512 E 98 104 50 25 3018125355 9 475 M5 M12x30 M12x25 30 85
K1745.0720512 E 122,7 130,1 72 39,7 44 27 21,335 - 9 475 M6 M12X50 M12X40 30 85
K1745.0720516 E 122,7 130,1 72 39,7 44 27 21,33,5 - 9 4,75 M6 M16x50 M16X40 50 150
K1745.1000516 E 130,7 140,6 100 42,6 64 40216 5 - 9 4,75 M8 M16x50 M16X40 50 150

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 11



